
SAP ABAP table J_1AWITH {Withholding transaction data}

J_1AWITH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

J_1AWTPKEY [CHAR (24)]

WITHT [CHAR (2)]

HKONT [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]
 J_1AWITH-HKONT = SKA1-SAKNR 0..N

1

T000

MANDT [CLNT (3)]
 J_1AWITH-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 J_1AWITH-BUKRS = T001-BUKRS 

0..N

1

T059P

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

 J_1AWITH-WITHT = T059P-WITHT 

0..N

1


